CALCULATED Diesel Exhaust PM Risk (Potential Cancer Cases in A Million) for 200 HP Engines

500 | 190|190 | 148 261 | 261 | 204 | 115

EF = 0.01 g/bhp-hr EF = 0.15 g/bhp-hr
Downwind Distance (m) Downwind Distance (m)

Hours | 30 | 42 | 75 | 100 | 200 [ 300 | 400 | 500 | 800 | 1600 3200f 30 | 42 | 75 | 100 | 200 | 300 | 400 | 500 | 800 | 1600 | 3200
10 ojJo|lofo]o]o 0 0|lo]o oJ1]1|1]1[o]o]Jo]Jofo]o 0
20 ojJ]o|loflo]o]o 0 0 |lo]o oJ3|3|[2]1[o]o]Jo]Jofo]o 0
30 ojJ]o|loflo]o]o 0 0|lo]o o) 4] 4|3]2]1 oJlo|Jofo]o 0
40 ojJo|lof[o]o]o 0 0 |lo]o ole|6|4a]3]|1 olo|Jofo]o 0
50 0 0 0 0 0 0 0 0 0 0 0 7 7 6 3 1 1 0 0 0 0 0
100 1 1 1 0 0 0 0 0 0 0 0 6 2 1 1 1 0 0 0
200 2|2 1f[1]o0]o0 0 0|l o] o 0 4 | 2 2| 1]1]0 0
300 3|3|2f[1]o0]0 0 0|lo]o 0 6 4 | 3| 2|1]1 0
400 | 4 | 4| 3] 2] 1| o0 0 0|lo]o 0 8 5|1 3|3[2]1 0
500 5|5 4[2]1]0 0 0 |lo]o 0 6 | 4| 3|2]1 0
1000 - 7] 4|1 1 1 0|lo]o 0 |143] 143|111 8 |6 [4] 2 1

EF = 0.40 g/bhp-hr EF = 0.55 g/bhp-hr
Downwind Distance (m) Downwind Distance (m)

Hours | 30 | 42 | 75 | 100 | 200 [ 300 | 400 | 500 | 800 | 1600 3200f 30 | 42 | 75 | 100 200 | 300 | 400 | 500 | 800 | 1600 3200
10 414 3]2]1]|o0 0 0|lo]o olJs|5|4]2]1 oJlo|Jofo]o 0
20 8 |8 |6 | 3|1 1 0 0 |lo]o 0 5| 1 1 1 |o0o]ofo 0
30 5| 2 1 1 1 0| o 0 7] 2 1 1[1]o0fo 0
40 7| 2 1 1 1 0| o 0 9| 3 2 1 |1]1fo 0
50 8 | 3 2 1 1 1| o 0 4 | 2 2|11 fo 0
100 5 3 2 2 1| o 0 7 4 | 3| 2|1]1 0
200 6 | 4| 3] 2 1 0 | 105|105 9 6 | 53| 1 1
300 7 5 | 3 1 1 | 157|157 | 122 9 | 7] 4| 2 1
400 | 152|152 119 9 7 4 2 1 | 209|209 | 163 9 | 6| 3 1

9 | 5 2 1 7| 3 2
5 2 7 8

1000 | 380 | 380 | 296 523 | 523 | 408 | 230

EF = 1.0 g/bhp-hr
Downwind Distance (m)

Hours 75 | 100 [ 200 | 300 | 400 | 500 | 800 | 1600|3200
10 1 1 0 0 0 0
20 2 1 1 1 0 0
30 2 2 1 1 0 0
40 3 2 2 1 0 0
50 4 3 2 1 1 0

100 8 6 4 3 1 1
200 | 190|190 | 148 9 5 2 1
300 | 285|285 | 222 8 4 2
400 | 380 | 380 | 296 5 2
500 | 475|475 371 6 3
1000 | 950 | 950 | 741 6

Assume: 100% load.
Calculated Risk using Equations - Urban Option.
The bold number indicates the downwind distance at the maximum risks.



